Littera Public School

CHAPTER-4 MULTIPLICATION Class-II
__,’————"—"// e e
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1. Fillin the boxes:

1 x1=1 (b) 4 x 2= 3 (c) 2 x3=6
Eacll)) 10x 3= 20 (e) 5 x 4= 20 (f) 9 x 2= 13
(g) 7 x 4= 23 (h) 2 x 5= 10 i 7 x1= 7%

2. Fill in the boxes:

(@) 1+1+1+1=Yx1 (b)1+1+_1+1=4x£L-

(€) 2+2+2+2+2+2=(x2 (d) 2+2+2+2+2=5x1
(€) 3+3+3+3+3+3+3=7 %3 (f) 3+3+3=3x3%

(g) 4+4+4=23 x4 (h) 4+4+4+4+4+4=6xY

(i) 5+5+5+5+5+5+5+5=9 x5 (G) 5+5+5+5+5+5+5=7x5
3. Fill in the boxes:

£ (@) 5+5+5+5+5+5+5 =5 x1 (b) 3x1=1+1+4

I () 4+4+4+4+4+4 =4yxg (d) 5x2= 2+ 2+2+2+2

_ (e) 3+3+3+3+3+3 = )= (f) 6x3=J+3+3J+3+8+3 °

o (g) 2+2+2+2+2+2 = 2x¢ (h) 5x4=Yy+y+y+y +y

(i) 1+1+1+1+1 = [)xEG () 4x5=5+5+5+5

T 4. Multiply: L

T @ 35 ® 27 © 17 @ 18

A x 2 x 3 x 4 x 5 —

L 0 1 b o —

—— 5. Each packet has 32 pens. How many pens will 3 such N
? i

4 packets have? 31

—— SN —_—

— 6. Each baghas 17 brushes. How many brushes will 5 such L

— =  bags have? 1

- —35 )

—— ot
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Now let us develop the Table of 6.

teps 6's

1. 6

6+6

6+6+6

6+6+6+6

6+6+6+6+6
6+6+6+6+6+6
6+6+6+6+6+6+6
6+6+6+6+6+6+6+6
6+6+6+6+6+6+6+6+6
6+6+6+6+6+6+6+6+6+6

O LN w oo

ek
i

Now let us develop the Table of 7.
Steps 7's

7 .

7+7

7+7+7

7+7+7+7

7+7+7+7+7
7+7+7+7+7+7
7+7+7+7+7+7+7
T7+T7+T7+7+7+7+7+7
T+7+7+7+7+7+7+7+7
10. 74+747+7+7+7+7+7+7+7
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Let us develop the Table of 8.

Steps 8's

8

8+8

8+8+8

8+8+8+8

8+8+8+8+8
8§+8+8+8+8+8
B8+8+8+8+8+8+8
8+8+8+8+8+8+8+8
8+8+8+8+8+8+8+8+8
3+8+8+8+8+8+8+8+8+8
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Total

6
12
18
24
30
36
42
48
54
60

Total

8
16
24
32
40
48
56
64
72

80

Table of 6
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36
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60
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Tableof7 —

1
2
3
4
5
6
7
8
9
1
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X

¥ x x X X %X %X X

7
7
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7
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Table of 8
8-—8

X

X
X

X
X
X
X
X
X
X

0

8
8
8§ =
8
8
8
8
8
8
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>t us develop the Table 0f 9,

9's

\O

9+9

94+49+9

9+9+9+9

9+9+9+9+9
9+9+9+9+9+9
9+9+9+9+0+0190
9+49+9+9+94+9+90+9
9+9+9+9+9+9+9+9+9
9+9+9+9+9+9+9+9+9+9
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10

10+10

10+10+10

10+10+10+10
10+10+10+10+10
10+10+10+10+10+10
10+10+10+10+10+10+10
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10

10+10+10+10+10+10+10+10
10+10+10+10+10+10+10+10+10
10+10+10+10+10+10+10+10+10+ 100

Total
5

18
27
36
45
54
63
72
81

" Total

90

10
20
30
40
50
60
70
80
90
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Tableof9

x 9 =9

18
27 —
36 ——
45
54
63 7
72 ———
81

90

X X X X X X X X X
1 | [ | B | B
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Tableof 16 —
1 x 10= 10 __
2 x 10= 20
x 10= 30
x 10= 40
x 10= 50
x 10= 60 —
x 10= 70 —
x 10= 80 __
x 10= 90
x 10= 100
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_ 1. Fill in the boxes:

_  (a) 6+6+6+6+6+6 = £ %6
(b) 7+7+7+7+7+7+7+7 = gx7
(c) 8+8+8+8+8+8 = (%8
o (d) 9+9+9+9+9+9+9 = 7x9

(€) 10+10+10+10+10+10+10+10 = g x 10

2. Fill in the boxes:

_ (@) 6+6+6+6+6+6+6+6 =8 x §
(b)) T+7+7+7+7+7+7+7+7 =9 x L
() 8+8+8+8+8+8+8 =7 x g

(d 9+9+9+9+9+9+9+9+9+9 = 10x 9§

(e) 10+10+10+10+10+10+10 =7 x Jp
3. Fill in the boxes:

@) 7 x 6= g+ + L@ L+ 3

(b) 5 x 7= 3+ 73+ 7+ 3+ 73

7
(¢ 9 x 8= g+§+ g+ §+ g+ g+ F+ T+ %
3

(dy 6 x 9= 9j+5.+"§+ 9+ !
€ 5 x 10= p+p+ 0+ [+ 10

4, Fill in the boxes:
(a) 6+6+6+6+6+6+6+6+6 = 6 x0
(by 7+7+7+7+7+7+7 =3 xF
(c) 8+8+8+8+8+8+8+8 =1} 3
(d) 9+9+9+9+9+9+9 =3 *x9
(e) 10+10+10+10+10+10 = & x4

5. Fill in the blanks:
2 x8 = 16 7x8=_56 3 x6 =5
3 x9 = 2% 4x9=23__  6x8 =N
8 x6 = 4g  9x7=_63  6x7 =_4=
7 x7 = M9 2x6=_1— 2 x7 =14
g x8 = _(y  6x9=_354y 6 x10=_60_
9 x10= _90 3 x8=_72Y 10x7 = 30 _
10x6 = €0 3x7= 721 9 x6 = 5y
9 x9 = _%_ 9x8= g2 5 x10=_60
4 x10= Y40 4 x8= 32 8 x7 = L&t
10%10= o 5 *8=_\yy = 5x6 = J0
g x7 = X2 6x6=_33  8x9 = 1)
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Multiply: e =
L. O0OO 2% 000 3% 000 4 000 5 00
2 4 3 6 4 3 5 4 6
X 6 X 7 X 8 x 9 x 1
1 Y\ 252 34y MBG 630
6. 000 7 OO0 & OO0 2% OO0 1 000
13 4 126 131 142 151
X 6 X 6 X 6 X 6 X 6 &
TO\ 334 1% & B¢y 906
1. 000 12 000 13 000 * 000 15 000
129 123 117 129 14 2
X 7 X 7 x 7 X 74 X 6 B
90 3 RG] 319 903 | W |
6. 000 17 000 18 000 1 000 20 OO0
1009 1 08 113 117 12 g
X 8 X 8 X 8 X 8 N
7. Fea 9%y 936 93y
2L 000 222 000 % 000 % 000 2 000
102 103 105 107 1009
X 9 X 0 X 9 X 9 X 9
-26. OO0 27 OO0 2 OO0 2% OO0 330 00O
5 6 6 9 8 7 3 5 4 5
1 x 10 x 1 0 x 10 x 10 x 10 -
LY%e £90 _ %I 23S0 _ 450 -~
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Each fan has 4 blades. A hall has 8 fans. Whatisthe O O O —
total number of blades? =
Total number of bladesis _ 31— .

Numbey o f Llades=Y

Nomyes o Fum& A | |

A T_cr\tn.@ e Les Dv\ L,\:,(]Q:\L‘ - L’s'?
An octopus has 8 legs. How many legs will 7 octopuses 000
have?
Total number of legs is : =

* Hymdes o} odfopua a‘e@s:% _—
f‘]\)ml&x—(}?l OC’}OFQ - ,‘_‘]._ - oL
+~ Tedad numbers of Legs = %"— i L -

A carton has 84 soap cakes. How many soap cakes wil O OO
6 such cartons have?
Number of soap cakes in 6 cartons is :
c Numler foap Cuei= 8’\’ -
HUm,lef{Q"-Co&]-ong e .

" Ted <l purodes of foal LAKEN = gyxb=SoY 1Ty -
A bus can carry 45 passengers. How many passengers il el
i ° | 000 -

can 9 such buses carry?
Number of passengers in 9 buses is
Y Number or, posSensyerd =4S
= N‘-""’Mb’“{' buseS = 9
" Tofa] pumlefol pesd e MEX9 = Yo§ 1 PR

Each packet has 124 notebooks. How many books will O OO0 -
6 such packets have?
Number of notebooks in 6 packets is .

T;I\:qwff:;foﬁfh;ﬁtfﬁjl? .t Tojadrumbes o] mojelookg - P Xe=34y
A

Each wagon can carry 104 bags. How many bags can  , '
7 such wagons carry? | OC

7 wagons can carry ___ bags

Wumy e o} by )= ey , —
")Um‘;?ﬁ ﬂ,}. hgq]‘,\s - a . T(:l‘dh\lm\,m D} L""\“/s S ‘“HX’) :‘*’18_ =
Each cart can carry 97 items. How many items can 10 S |

I

& 5

such cart carry ? O 1
%10 = E

. __carlscancarry ______items. 9 Yo ';
\__‘\“1
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1. MUH]“}]V o - - -
(a) 4 3 b)y121 () 124 (@) 19 -
X 6 % 7 % b ’c Q
LI %t 99% 963
2. Each carton has 209 items, How many items will 4 such cartons ha-

209X\ = %.2f

3. Multiply the sum of 326 and 89 by 2.
22 L X%Y = ¥730

- 4. Subtract 234 from 456 and multiply the product by 3.
Y<bmayz 990
L 220 X3 = [LF g

- 5. Multiply 218 by 4 and round the product to nearest tens

1

) =X ¥ T heeset %”S: 5 10 A
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